

		Т	abulation of B	ids			Page 1 of 6
Contract ID: 194	36		Counties:	BERGEN, ESSI PASSAIC, SOM	EX, HUDSON, H IERSET, SUSSE		
Letting Date: Octo	ober 15, 2020		District(s):	H4			
Call Order: 486			Project(s):	STBGP-D00S(4	19)		
Contract Time: 12/3	1/21 COMPLETION DA	ATE	Min:	Max:			
Contract Description	Contract Description: Maintenance JOC Bridge Repairs, North-2019						
Line No / Item ID Item Description		(1) IEW CON GROUF		(2) JOSEPH M. SANZARI, INC.		(3) MOUNT CONSTRUCTION CO., INC.	
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	Bridge		Cat Al	t Set:	Cat A	It Member:	
0001 MMG011M Adjustment Factor - Norma	3,865,000.000 I Working PCT	0.92000	3,555,800.00	0.96000	3,710,400.00	0.98000	3,787,700.00
Hours	·						
0002 MMG012M	427,500.000	0.92000	393,300.00	0.96000	410,400.00	0.98000	418,950.00
Adjustment Factor - Other-t normal Working Hours	han- PCT						
Section Totals:			\$3,949,100.00		\$4,120,800.00		\$4,206,650.00

10/16/2020



		т	abulation of B	ids			Page 2 of 6	
Contract ID: 19486	Contract ID: 19486 Counties				BERGEN, ESSEX, HUDSON, HUNTERDON, MORRIS, PASSAIC, SOMERSET, SUSSEX, UNION, WARREN			
Letting Date: Octob	er 15, 2020		District(s):	H4				
Call Order: 486			Project(s):	STBGP-D00S(4	19)			
Contract Time: 12/31/	21 COMPLETION DA	TE	Min:	Max:				
Contract Description:	Maintenance JOC	Bridge Repairs, N	North-2019					
Line No / Item ID Item Description		(1) IEW CONSTRUCTION GROUP, INC.		(2) JOSEPH M. SANZARI, INC.		(3) MOUNT CONSTRUCTION CO., INC.		
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
SECTION: 0002	Non-Participati	ng	Cat Al	It Set: Cat Alt Member:				
0003 MMG013M	400,000.000	1.00000	400,000.00	1.00000	400,000.00	1.00000	400,000.00	
NON-PARTICIPATING WOR	K DOLL							
Section Totals:			\$400,000.00	I	\$400,000.00		\$400,000.00	
Co	ntract Totals		\$4,349,100.00		\$4,520,800.00		\$4,606,650.00	
Cost F	Plus Time Totals		\$4,349,100.00		\$4,520,800.00		4,606,650.00	
() indicates item is bid a	as Lump Sum			I	, i			



		т	abulation of B	ids			Page 3 of 6
Contract ID: 19486	,	Counties:			s: BERGEN, ESSEX, HUDSON, HUNTERDON, MOR PASSAIC, SOMERSET, SUSSEX, UNION, WARRI		
Letting Date: Octob	er 15, 2020		District(s):	H4			
Call Order: 486			Project(s):	STBGP-D00S(4	19)		
Contract Time: 12/31/	21 COMPLETION D	ATE	Min:	Max:			
Contract Description:	Contract Description: Maintenance JOC Bridge Repairs, North-2019						
Line No / Item ID Item Description		(4) COLONNEL IN		(5) NAGI CONS ⁻ IN		(6) JRCR	UZ CORP.
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	Bridge	Cat Alt Set:			Cat Alt Member:		
0001 MMG011M	3,865,000.000	1.19000	4,599,350.00	1.25000	4,831,250.00	1.30000	5,024,500.00
Adjustment Factor - Normal V Hours							
0002 MMG012M	427,500.000	1.19000	508,725.00	1.35000	577,125.00	1.45000	619,875.00
Adjustment Factor - Other-tha normal Working Hours	an- PCT						
Section Totals:			\$5,108,075.00		\$5,408,375.00		\$5,644,375.00



		т	abulation of B	ids			Page 4 of 6
Contract ID: 19486			Counties:	BERGEN, ESSE PASSAIC, SOM	, ,		,
Letting Date: Octob	er 15, 2020		District(s):	H4			
Call Order: 486			Project(s):	STBGP-D00S(4	19)		
Contract Time: 12/31/	21 COMPLETION D	ATE	Min:	Max:			
Contract Description:	Maintenance JOC	Bridge Repairs, N	North-2019				
Line No / Item ID Item Description		(4) COLONNELLI BROTHERS, IS NAGI CONSTRUCTION CO., INC.			-, (6) JRCRUZ CORP.		
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0002	Non-Participati	ng	Cat Al	It Set: Cat Alt Member:			
0003 MMG013M	400,000.000	1.00000	400,000.00	1.00000	400,000.00	1.00000	400,000.00
NON-PARTICIPATING WOR	K DOLL						
Section Totals:			\$400,000.00	'	\$400,000.00		\$400,000.00
Co	ntract Totals		\$5,508,075.00		\$5,808,375.00		\$6,044,375.00
Cost F	Plus Time Totals		\$5,508,075.00		\$5,808,375.00		6,044,375.00
() indicates item is bid a	as Lump Sum	I		1		l	



Tabulation of Bids						Page 5 of 6		
Con	ntract ID: 19486			Counties:	BERGEN, ESSE PASSAIC, SOM			-
Letti	ng Date: Octobe	er 15, 2020		District(s):	H4			
Ca	III Order: 486			Project(s):	STBGP-D00S(4	19)		
Contra	ict Time: 12/31/2	21 COMPLETION D	ATE	Min:	Max:			
Contra	Contract Description: Maintenance JOC Bridge Repairs, North-2019							
Line No	• • • • • • • • • • • • • • • • • • • •		(7) RAILROAD CONSTRUCTION COMPANY, INC.					
Alt Set /	Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	: 0001	Bridge		Cat A	t Set:	Cat A	It Member:	
0001	MMG011M	3,865,000.000	1.35000	5,217,750.00				
Adjustment Hours	t Factor - Normal W	orking PCT						
0002	MMG012M	427,500.000	1.42000	607,050.00				
•	t Factor - Other-tha rking Hours	n- PCT						

10/16/2020

Section Totals:

\$5,824,800.00

(And	STATE OF NEW JERSEY
	DEPARTMENT OF TRANSPORTATION
	STATE OF New JERSEY DEPARTMENT OF TRANSPORTATION Phil Murphy, Governor Sheila Oliver, Lieutenant Governor

		т	abulation of B	ids			Page 6 of 6
Contract ID: 19486	Countie			BERGEN, ESSE PASSAIC, SOM			
Letting Date: October 15	5, 2020		District(s):	H4			
Call Order: 486			Project(s):	STBGP-D00S(4	19)		
Contract Time: 12/31/21 C	OMPLETION DA	MPLETION DATE Min: Max:					
Contract Description: Ma	aintenance JOC E	Bridge Repairs, N	orth-2019				
Line No / Item ID Item Description		(7) RAILROAD CONSTRUCTION COMPANY, INC.					
Alt Set / Alt Member Qu	antity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0002	Non-Participatir	ng	Cat Al	It Set: Cat Alt Member:			
0003 MMG013M	400,000.000	1.00000	400,000.00				
NON-PARTICIPATING WORK	DOLL						
Section Totals:	·		\$400,000.00				
Contrac	t Totals		\$6,224,800.00				
Cost Plus	Time Totals		\$6,224,800.00				

10/16/2020

() indicates item is bid as Lump Sum



		Vend	lor Ranking		Page: 1
Call Order:	486	Contract ID:	19486	Counties:	BERGEN, ESSEX, HUDSON, HUNTERDON, MORRIS, PASSAIC, SOMERSET, SUSSEX, UNION, WARREN
Letting Date:	October 15, 2020 10:00 AM	District(s): H4 Contract Time:	12/31/21 COMPLETION DATE		

Contract Description: Maintenance JOC Bridge Repairs, North-2019

Project(s): STBGP-D00S(419)

Rank	Vendo	r ID/Name	Total Bid	Percent Of Low Bid
1	12943	IEW CONSTRUCTION GROUP, INC.	\$4,349,100.00	100.00%
2	S0503	JOSEPH M. SANZARI, INC.	\$4,520,800.00	103.95%
3	M6816	MOUNT CONSTRUCTION CO., INC.	\$4,606,650.00	105.92%
4	C6295	COLONNELLI BROTHERS, INC.	\$5,508,075.00	126.65%
5	N0140	NAGI CONSTRUCTION CO., INC.	\$5,808,375.00	133.55%
6	C7689	JRCRUZ CORP.	\$6,044,375.00	138.98%
7	R0180	RAILROAD CONSTRUCTION COMPANY, INC.	\$6,224,800.00	143.13%

THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.